Easy to install

What's in the box

S o o o 1

=—c

What's in the box

Easy to install

®x1

®x2

@5x15x1

ST4.8x38

M5x10

4mm

®x1

5mm

The smooth side connects the pole.

FeBMIERE R IR

HROFESHEED LEEWNT EHOLSITIEEITE R TLIEEL,
Bitte befestigen Sie die glatte Seite an der Stange.

Le cbté lisse relie les poles

" Il lato liscio collega i poli

El lado liso conecta los polos

N x4 | M-B pg

M5x14

M8x30

\V/ B = x4

M8x50

5MM

L M-H B

]

15MM

Easy to install

=

Easy to install

7 (a1) For Flat Screen TV

ERTFRBM
7o5vhTLER
Fir Flache TVs

Pour les téléviseurs a dos plat
Per i televisori a schermo piatto

Para los televisores de pantalla plana

Easy to install

Using screws to fix the ring determine the height of the bracket.
ERBSTEETHERRNEE

NADXRYGCENALT TLEDBEZRETELT,
BRESBLTFWITL—av LTLIEEL,

Mit den Schrauben zur Befestigung des Rings bestimmen Sie die Hohe der Halterung.
Utiliser des vis pour fixerfanneau déterminer la hauteur du support

Utilizzare le viti per fissare I'anello, per determinare I'altezza del supporto

Utilizar tornillos para fijar el anillo determinar la altura del soporte

=

(a2) For Curved Screen TV
EATHhEEM
mET L EICERYS
Fir Curved TVs

Pour les téléviseurs incurvés
Per i televisori curvi
Para los televisores curvos

(a3) For Uneven TV
ERTFHIE R R R L

FREADTFLES—TIVISERY %

Fir TV-Kabel in der Mitte

Pour les téléviseurs a cable central
Per gli apparecchi televisivi centrali via cavo
Para los aparatos de television central por cable

(a4) For TV with wires in the middle

ERTAANERBE

TRAN VI TL—2FLEADER
Fir TVs mit unregelmaRigem Riicken

Pour les téléviseurs a dos irrégulier

Per i televisori posteriori irregolari
Para los televisores traseros irregulares




Easy to install

Easy to install

Easy to install

Unscrew the knobs

T hEsE

RDRAT v FTHEHBIT, / T EFHTLIEEL,
Schrauben Sie die Kndpfe ab

Dévisser les boutons

Svitare le manopole

Desenroscar los pomos

@ 5mm

Easy to install

12

Benétigte Werkzeuge (nicht enthalten)

Herramientas necesarias (Ahora incluidas)

Solid Brick and Concrete Mounting
ZOFEIRR T RE
mExXELyAHEaYII—

Feste Ziegel- und Betonbefestigung

Montage solide sur briques et béton
Montaggio solido su mattoni e calcestruzzo
Montaje solido en ladrillos y hormigén

Tools Required (Not included)
FReE TR ()
BEEY—IL (TBLTVWERA)

Outils requis (Non inclus)

Strumenti necessari (ora inclusi) ®8mm(0.31")

S N R Ty

Mark the exact location
of mounting holes

B IEREFL
MHFNEY—2 LTLIZEL  ifori di montaggio
Markieren Sie die
Befestigungsldcher richtig

Marque correctement les
trous de montage

Segnare correttamente

Marque los agujeros de

montaje correctamente . )
! Secure wall anchors @ into drilled

holes with hammer

RETeEs @ BRI E

EB7H— @ EN\YI—TRUILRICEETS
Befestigen Sie den Maueranker @ mit

einem Hammer am Bohrloch.

Fixez la cheville murale @ sur le trou
de pergage avec un marteau

Drill pilot holes Pergage de trous pilotes Fissare la spina a muro @ al foro
FF AL Fori pilota con un martello
NERIT Aguijeros piloto Fijar el tapon de la pared @ en el

Bohren Sie Pilotlécher

taladro con un martillo

/\. WARNING

Installers must verify that the supporting surface will safely support the combined weight of the
equipment and all attached hardware and components.

TRARNARTEORBREMTZERENEENMEEGNAGNESES,

Ik
=<
BREERF ZIEBEINIEBEIMOMITISNATVRITARTON—RIT 7RIV R—R L
DEFEEXRRICEISGNZ L EZERIINELHDFT,

Der Installateur muss sicherstellen, dass die Auflageflache das Gesamtgewicht des Gerats und aller
installierten Hardware und Komponenten sicher tragen kann.

L'installateur doit s'assurer que la surface d'appui peut supporter en toute sécurité le poids total de
I'équipement et de tous les matériels et composants installés.

L'installatore deve assicurarsi che la superficie di appoggio possa sostenere in modo sicuro il peso
totale dell'apparecchiatura e di tutti i materiali e componenti installati.

El instalador debe asegurarse de que la superficie de apoyo puede soportar con seguridad el peso
total del equipo y de todos los materiales y componentes instalados.

Easy to install

13

Wood Stud Wall Mounting
LOFEHRE T R
7y RRUIVERIAIT 5%

Wandmontage mit Holzstander

Montage mural sur montants en bois
Montaggio a parete su borchie di legno
Montaje en pared sobre montantes de madera

F=1)

®3.5mm(0.13")

Find and mark the exact location

of mounting holes
HEIREFLHERMLE

BRI ROBEREUEZRDITES
Finden Sie die genaue Position

der Befestigungslécher

Mark the exact location
of mounting holes

TRCREFNERUE
ZOMRBICR—ILTLIEEL,
Markieren Sie die genaue
Position der Befestigungslécher

Drill pilot holes

FFL

NERIFS

Bohren Sie Pilotlécher

Tools Required (Not included)

FiE TR (i)
RERY—IL(TRLTVWEEA)
Bendétigte Werkzeuge (nicht enthalten)
Outils requis (Non inclus)

Strumenti necessari (ora inclusi)
Herramientas necesarias (Ahora incluidas)

Trouver I'emplacement exact
des trous de montage

Trova la posizione esatta dei
fori di montaggio.

Buscar la ubicacion exacta de
los agujeros de montaje

Marque I'emplacement exact
des trous de montage
Segnare la posizione esatta
dei fori di montaggio

Marque la ubicacion exacta
de los agujeros de montaje

Pergage de trous pilotes
Fori pilota
Agujeros piloto

[__EN__|

__FR___JNN DE_ W P CH

ITA

/m

/\. WARNING

Please confirm whether the mounting screw is fixed in the center of the bolt. The star viewfinder
is highly recommended.

The installer is responsible for providing appropriate hardware for other types of installations.

The installer must ensure that the supporting surface can safely support the total weight of the
machine and all hardware and components installed.

BERINZERITERECERENT R BINHEEREMLRSH,
RERBFHENEMERNNREB RIZEMBNOE S,

REARN AR EGEBLZ ST ENSNZENFFERGERAHNRES,
BORIFXSHRAYYROFRICEIEINTVWER I EZBELTLIE IV RAY YR T 7o
VH—DERZRBEOLET,

AVRI—F—F MDIALTOERDFIHRRICHETZN— RO 7 =R BT Z2EED
HODFET,

BREER . IEBEIEBEROMITSNTVBRTARTO/N—RIT 7 RVPIVR—K UL
DEFHEELZRRILEZIONZ L EZMBEIZINENHDFT,

Bitte tberprifen Sie, ob die Befestigungsschraube in der Mitte des Bolzens befestigt ist. Der
Sternsucher ist sehr zu empfehlen.

Der Installateur ist fir die Bereitstellung geeigneter Hardware fiir andere Arten von Installationen
verantwortlich.

Der Installateur muss sicherstellen, dass die Auflageflache das Gesamtgewicht der Maschine
und aller installierten Hardware und Komponenten sicher tragen kann.

Veuillez vérifier si la vis de montage est fixée au centre du boulon. Le viseur en étoile est
fortement recommandé.

L'installateur est responsable de fournir le matériel approprié pour les autres types d'installations.

L'installateur doit s'assurer que la surface d'appui peut supporter en toute sécurité le poids
total de la machine et de tous les matériels et composants installés.

Verificare che la vite di montaggio sia fissata al centro del bullone. L'osservazione delle stelle &
altamente raccomandata.

L'installatore & responsabile della fornitura dell'hardware appropriato per altri tipi di installazioni.

L'installatore deve assicurarsi che la superficie di appoggio possa sostenere in modo sicuro il
peso totale della macchina e di tutte le apparecchiature e i componenti installati.

Por favor, compruebe si el tornillo de montaje esta fijado en el centro del perno. La vista de las
estrellas es muy recomendable.

El instalador es responsable de proporcionar el hardware adecuado para otros tipos de
instalaciones.

El instalador debe asegurarse de que la superficie de apoyo puede soportar con seguridad el
peso total de la maquina y de todos los equipos y componentes instalados.

~

/

14




